Name: D'Owr’"”‘s, PC&&")’ 4 Class #:

Math 48A, Lesson 13: Inverse Functions

1. MORE PRACTICE COMBINING FUNCTIONS

Consider the following functions

f(x) =x -3 and g(x) =x2—9
Please find each of the following:
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Show your work and simplify whenever you can.
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2.  EXAMPLES OF FORWARD AND BACKWARD PROBLEMS

For each function below, consider solve each of the pairs of problems. As you solve
each problem, specifically identify:

A. What is the input and what is the output?

B. What are the known values?

C. What are the unknown values?

D. How many solutions are there?

E. How are the forward and backward problems related?

FUNCTION FORWARD PROBLEM BACKWARD PROBLEM
f(x)=5+x 54+ 7=y 54+ x=12
glx) =4 *x 4= b=y 4 - x =20

hie) == 92 =y get= g1

jx) = x° (=33 =y x3 = —27

k(x) = |x| -5l =y x| =

i) =2° 2° =4y 2* = 64
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